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Term-End Examination 

tr) 	 June, 2013 
O 

ES-335 : TEACHER AND SCHOOL 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All the four questions are compulsory. 

(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

What are the hierarchies present in a school ? 
Describe the types of hierarchical structure of a 
school with their merits and demerits. 

OR 

Explain the meaning of communication. Discuss 
the barriers to communication and suggest steps 
to overcome barriers to school communication. 

2. Answer the following question in about 600 
words : 

Discuss the need and significance of co-curricular 
activities. How can a teacher organise co-
curricular activities effectively ? 

OR 
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Explain the need and importance of Parent 
Teacher Association (PTA). Discuss how it can 
contribute to the growth and development of a 
school. 

	

3. 	Answer any five of the following questions in 
about 120 words each : 
(a) Differentiate between a community school 

and a neighbourhood school. 
(b) Explain the role of a teacher in the teaching 

phase. 
(c) Write about any two modalities of in-service 

training for teachers. 
(d) What is peer evaluation ? Mention its 

advantages and disadvantages. 
(e) Mention different styles of leadership ? 

According to you, which of the styles of 
leadership a headmaster of a school should 
adopt and why ? 

(f) Mention the responsibilities of the Central 
Government in school education. 

(g) Discuss how a teacher can help students to 
use library effectively for their learning. 

(h) Explain, with an example, how nominal 
group technique, can be used to make 
decisions in the school. 

	

4. 	Answer the following question in about 600 
words : 
Mention a problem which you face in the 
teaching-learning process. Discuss the steps you 
will take while making decisions to solve the 
problem. 
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